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INTERFERENZA
FOG.04

NUOVA LINEA
Lunghezza: 1500 m

DISMISSIONE LINEA
Lunghezza: 1400 m



Prog= 6+875.000

Prog= 6+900.000

Prog= 6+925.000
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Prog= 7+050.000

Prog= 7+075.000

Prog= 7+100.000

Prog= 7+125.000

Prog= 7+150.000

Prog= 7+175.000

Prog= 7+200.000

Prog= 7+225.000

Prog= 7+250.000

Prog= 7+275.000

Prog= 7+300.000

Prog= 7+325.000

Prog= 7+350.000

Prog= 7+375.000

Prog= 7+400.000

Prog= 7+425.000

Prog= 7+450.000

Prog= 7+475.000

Prog= 7+500.000

Prog= 7+525.000

Prog= 7+550.000

Prog= 7+575.000

Prog= 7+600.000

Prog= 7+625.000

Prog= 7+650.000

Prog= 7+675.000

Prog= 7+700.000

Prog= 7+725.000

Prog= 7+750.000

Prog= 7+775.000
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Prog= 7+975.000

Prog= 8+000.000

Prog= 8+025.000
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INTERFERENZA
FOG.05

NUOVA LINEA
Lunghezza: 1500 m

DISMISSIONE LINEA
Lunghezza: 1400 m



Prog= 7+525.000

Prog= 7+550.000

Prog= 7+575.000

Prog= 7+600.000

Prog= 7+625.000

Prog= 7+650.000

Prog= 7+675.000

Prog= 7+700.000
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INTERFERENZA
FOG.06

DISMISSIONE LINEA
Lunghezza: 330 m

NUOVA LINEA
Lunghezza: 500 m



Prog= 10+175.000

Prog= 10+200.000

Prog= 10+225.000

Prog= 10+250.000

Prog= 10+275.000

Prog= 10+302.321

Prog= 10+175.000

Prog= 10+200.000

Prog= 10+225.000

Prog= 10+250.000

Prog= 10+275.000

Prog= 10+302.321

INTERFERENZA FOG.0
Lunghezza: 110 m

NUOVA LINEA
Lunghezza: 1500 m

RIPOSIZIONAMENTO
NUOVA LINEA

Lunghezza: 110 m



Prog= 5+216.416

Prog= 5+225.000

Prog= 5+250.000

Prog= 5+275.000

Prog= 5+300.000

Prog= 5+325.000

Prog= 5+350.000

Prog= 5+375.000

Prog= 5+400.000

Prog= 5+425.000

Prog= 5+450.000

Prog= 5+475.000

Prog= 5+500.000

Prog= 5+525.000

Prog= 5+550.000

Prog= 5+575.000

Prog= 5+600.000

Prog= 5+625.000

Prog= 5+650.000

Prog= 5+675.000

Prog= 5+700.000

Prog= 5+725.000

Prog= 5+750.000

Prog= 5+775.000

Prog= 5+800.000

Prog= 5+825.000

Prog= 5+850.000

Prog= 5+875.000

Prog= 5+900.000

Prog= 5+925.000

Prog= 5+950.000

Prog= 5+975.000

Prog= 6+000.000

Prog= 6+025.000

Prog= 6+050.000

Prog= 6+075.000

Prog= 6+100.000

Prog= 6+125.000

Prog= 6+150.000

Prog= 6+175.000

Prog= 6+200.000

Prog= 6+225.000

Prog= 6+250.000

Prog= 6+275.000

Prog= 6+300.000 325.000
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Prog= 5+250.000

Prog= 5+275.000

Prog= 5+300.000

Prog= 5+325.000

Prog= 5+350.000

Prog= 5+375.000

Prog= 5+400.000

Prog= 5+425.000

Prog= 5+450.000

Prog= 5+475.000

Prog= 5+500.000

Prog= 5+525.000

Prog= 5+550.000

Prog= 5+575.000

Prog= 5+600.000

Prog= 5+625.000

Prog= 5+650.000

Prog= 5+675.000

Prog= 5+700.000

Prog= 5+725.000

Prog= 5+750.000

Prog= 5+775.000

Prog= 5+800.000

Prog= 5+825.000

Prog= 5+850.000

Prog= 5+875.000

Prog= 5+900.000

Prog= 5+925.000

Prog= 5+950.000

Prog= 5+975.000

Prog= 6+000.000

Prog= 6+025.000

Prog= 6+050.000

Prog= 6+075.000

Prog= 6+100.000

Prog= 6+125.000

Prog= 6+150.000

Prog= 6+175.000

Prog= 6+200.000

Prog= 6+225.000

Prog= 6+250.000

Prog= 6+275.000

Prog= 6+300.000

Prog= 6+325.000
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INTERFERENZA
MT.01

NUOVA LINEA
Lunghezza: 1000 m

DISMISSIONE LINEA
Lunghezza: 1000 m



Prog= 6+875.000

Prog= 6+900.000

Prog= 6+925.000

Prog= 6+950.000

Prog= 6+975.000

Prog= 7+000.000

Prog= 7+025.000

Prog= 7+050.000

Prog= 7+075.000

Prog= 7+100.000

Prog= 7+125.000

Prog= 7+150.000

Prog= 7+175.000

Prog= 7+200.000

Prog= 7+225.000

Prog= 7+250.000

Prog= 7+275.000

Prog= 7+300.000
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Prog= 7+700.000
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Prog= 6+950.000

Prog= 6+975.000

Prog= 7+000.000

Prog= 7+025.000
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Prog= 7+100.000
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Prog= 7+250.000

Prog= 7+275.000
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Prog= 7+400.000
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Prog= 7+450.000

Prog= 7+475.000

Prog= 7+500.000

Prog= 7+525.000

Prog= 7+550.000

Prog= 7+575.000
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Prog= 8+175.000

Prog= 8+200.000

Prog= 8+225.000
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INTERFERENZA
MT_BT.02

NUOVA LINEA
Lunghezza: 1300 m

DISMISSIONE LINEA
Lunghezza: 1200 m
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Prog= 5+216.416

Prog= 5+225.000

Prog= 5+250.000
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Prog= 5+350.000
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Prog= 6+300.000

Prog= 6+325.000
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Prog= 6+375.000
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Prog= 5+216.416

Prog= 5+225.000

Prog= 5+250.000

Prog= 5+275.000

Prog= 5+300.000

Prog= 5+325.000

Prog= 5+350.000
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Prog= 5+400.000
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Prog= 5+500.000
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INTERFERENZA
TLC.01

NUOVA LINEA
Lunghezza: 1100 m

DISMISSIONE LINEA
Lunghezza: 1100 m



Prog= 5+725.000

Prog= 5+750.000

Prog= 5+775.000

Prog= 5+800.000

Prog= 5+825.000

Prog= 5+850.000

Prog= 5+875.000

Prog= 5+900.000

Prog= 5+925.000

Prog= 5+950.000

Prog= 5+975.000

Prog= 5+725.000

Prog= 5+750.000

Prog= 5+775.000

Prog= 5+800.000

Prog= 5+825.000

Prog= 5+850.000

Prog= 5+875.000

Prog= 5+900.000

Prog= 5+925.000

Prog= 5+950.000

Prog= 5+975.000

INTERFERENZA
TLC.01

RISOLUZIONE INTERFERENZA TLC.01

VECCHIA LINEA

INTERFERENZA TLC.02
Lunghezza: 30 m

RIPOSIZIONAMENTO NUOVA LINEA
Lunghezza: 65 m



Prog= 6+850.000

Prog= 6+875.000

Prog= 6+900.000

Prog= 6+925.000

Prog= 6+950.000

Prog= 6+975.000
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Prog= 7+025.000
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Prog= 7+075.000

Prog= 7+100.000

Prog= 7+125.000

Prog= 7+150.000

Prog= 7+175.000

Prog= 7+200.000

Prog= 7+225.000

Prog= 7+250.000

Prog= 7+275.000

Prog= 7+300.000

Prog= 7+325.000

Prog= 7+350.000

Prog= 7+375.000

Prog= 7+400.000

Prog= 7+425.000

Prog= 7+450.000

Prog= 7+475.000

Prog= 7+500.000

Prog= 7+525.000

Prog= 7+550.000

Prog= 7+575.000

Prog= 7+600.000

Prog= 7+625.000

Prog= 7+650.000

Prog= 7+675.000

Prog= 7+700.000

Prog= 7+725.000

Prog= 7+750.000

Prog= 7+775.000

Prog= 7+800.000
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Prog= 8+200.000
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Prog= 6+900.000

Prog= 6+925.000

Prog= 6+950.000

Prog= 6+975.000

Prog= 7+000.000

Prog= 7+025.000
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Prog= 7+075.000

Prog= 7+100.000

Prog= 7+125.000

Prog= 7+150.000

Prog= 7+175.000

Prog= 7+200.000

Prog= 7+225.000

Prog= 7+250.000

Prog= 7+275.000

Prog= 7+300.000

Prog= 7+325.000

Prog= 7+350.000

Prog= 7+375.000

Prog= 7+400.000

Prog= 7+425.000

Prog= 7+450.000

Prog= 7+475.000

Prog= 7+500.000

Prog= 7+525.000

Prog= 7+550.000

Prog= 7+575.000

Prog= 7+600.000

Prog= 7+625.000

Prog= 7+650.000

Prog= 7+675.000

Prog= 7+700.000

Prog= 7+725.000

Prog= 7+750.000

Prog= 7+775.000

Prog= 7+800.000

Prog= 7+825.000

Prog= 7+850.000

Prog= 7+875.000
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